[image: Новый рисунок222]
image1.png
o gle e (751 ) ey
£ L | tET (X3 oz | gv9| 90T s| g9 £ z ? o
se| o |Ev8 | YE| 00| su| sse| 5| &21| L8| T | pg |vome
g| ¢ |95z | sge| | 7| e s| 81| sgg| 7| §9| woww s
o] o |sw| vo| w|sw|we] s|om| o] o] 9 oy
e L | vsz | gE 0 9| 99C s | ggi| s z £
£ L | LsT e 0z | §'29| 8T s | vel| 59T T £
P 1z | ez oz ges| vre| s | Tmi| LT z | ¥ oo
| £ |ziz| ¢z| 0| ves|vez| S| gy | €| T | 96 -
ss'e| | 5| ve| g | | we| 5| cu| s5| 2 L
T 7127 Laol 28 20 1.0 (e
80 |27 [eeg| 5 | o7 |se0| 28 | 27 22| 28 | EELE+o
SE O BE ERn| BT | EE|Epi|Ef | iR |fii| P |szipeid
3 2f |25 =7 | =f |2EE| 2% £ |EEE|2x |P2EFZEE soun
% (85 [E88| 51 | °p |%E:| 5 | =i |2f:|BE | fi[d%¢ 2
v
-

1 hnrony





